
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

10 . के ऋणा क घातांक

10 =(−1) 10 =(−3)

832.4 × 10 =(−1) 8 × 10 =2

10 =(−4) 9 × 10 =

10 =(−3) 10 =(−2)

10 =(−4) 7 × 10 =2

3 × 10 =2 136.9 ÷ 10 =2

3 × 10 = 10 =(−1)

10 =(−3) 750.6 ÷ 10 =(−1)

2 × 10 =2 10 =(−4)

146.6 ÷ 10 =(−4) −2 × 10 =(−4)
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

10 . के ऋणा क घातांक

10 = 0.1(−1) 10 = 0.001(−3)

832.4 × 10 = 83.24(−1) 8 × 10 = 8002

10 = 0.0001(−4) 9 × 10 = 90

10 = 0.001(−3) 10 = 0.01(−2)

10 = 0.0001(−4) 7 × 10 = 7002

3 × 10 = 3002 136.9 ÷ 10 = 1.3692

3 × 10 = 30 10 = 0.1(−1)

10 = 0.001(−3) 750.6 ÷ 10 = 7506(−1)

2 × 10 = 2002 10 = 0.0001(−4)

146.6 ÷ 10 = 1466000(−4) −2 × 10 = −0.0002(−4)
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